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Language — PartI — HINDi_—'PaperI |

Time Allowed : 3 Hours | , | [ Maxifnﬁm, Marks : 100
ila—-n: (1) U T & o ww-v ) s aﬁmﬁaﬁ%ﬁwma‘rgﬁaam
e W e W A
() I 3G hrelt =1 et T F @ W R
I ﬁﬁﬁﬁéﬁﬁ@%ﬁ@éﬁaﬁﬁﬂfzﬁwﬁﬁm - 1x5=5

With reference to the context explain any one of the followmg :
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With reference to the context explain any two of the following :-
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1. frafafea 4 9 fadr o w1 = g fafew) 1x15=15
~ Write the summary of any one of the following poem : :
6. dfed -
7. Sdl R
8. HEH 3TN SHI WA A
IV. TRAGH: | | | | 1x10=10
Poem writing : , | '
9. WRA id I vuw B: Uik farag
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V. 11. frefafea § ¥ R w1 dee deo fafeg | 1x5=5
With example give the characteristic of any one of the following : ~
(37) =g (e T (3) =@
© 12, Trafafed § 3 R & o dge aav fafegr 1x5=5
With example give the characteristic of any one of the following :
(31) amh (3M) ®H (3) qam
VI frefafed § & Red & 3t st wfea =men iR o 2x5=10

With reference to the context explain any two of the following :
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VIL frefafad § @ e R O & e sk AR E ‘4x3=12
Answer briefly any four of the following questions :
17. é@#ﬁtﬁéﬁaﬁ#—ﬁﬂﬁwﬁﬁ%?
18. aﬁéﬁm_m%w—wé’@?-
19. 9t i gfta gan ?
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From the following lessons write summary of any one in 300 words
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26. 3T9ih
IX. 27. f=fafes ¥ a@ <ie fiemw ' ‘ 5x1=5
~ Match the correct pairs : o f
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X. 28. fTrfafad § @ fondl wm & 1o foreent ol v #ifse ) | 4x2=8

From the 'following write the meaning of any four and use tlﬂer’h in seﬁtences':
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